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Rekvisisjoner

Netto = 'Benyttet'

PasientKlarFraAr BetweenlInclusive(2015; 2016)
HenteKommune = 'ROAN'

PasientKontor = 'St. Olavs hospital’
TransportType = 'TAX'

Rekvisisjoner (RB)

TransportType = 'TAX'

PasientKlarFraAr BetweenlInclusive(2015; 2016)
HenteKommune = 'ROAN'

Netto = 'Benyttet'

PasientKontor = 'St. Olavs hospital’

Rekvisisjoner (LI)

HenteKommune = 'ROAN'

TransportType = 'TAX'

PasientKlarFraAr BetweenlInclusive(2015; 2016)
PasientKontor = 'St. Olavs hospital’

Netto = 'Benyttet'

Pivot-tabell LI

TransportType = 'TAX'

HenteKommune = 'ROAN'

PasientKlarFraAr BetweenlInclusive(2015; 2016)
PasientKontor = 'St. Olavs hospital’

Netto = 'Benyttet'

Pivot-tabell RB

HenteKommune = 'ROAN'

PasientKlarFraAr BetweenlInclusive(2015; 2016)
Netto = 'Benyttet'

PasientKontor = 'St. Olavs hospital’
TransportType = 'TAX'



Pivot-tabell

PasientKlarFraAr BetweenlInclusive(2015; 2016)
TransportType = 'TAX'

PasientKontor = 'St. Olavs hospital’
HenteKommune = 'ROAN'

Netto = 'Benyttet'
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